Sy = f(x) o) A mI} ke 2} 7
uj, o] Z1ef o] A4S ke

flo

@ y=lx-1|-1

@ y=lx+1]-1 5

® y=[x-1]+1

<@)y=—lx+1|+1

®y=-lx+1]-1

y=—|x|olxtHdd x+1,
yAAdy-1SddstH y-1=
Z fx)=-|x+1|+1°B2 y=—|x+1|+1




1

Fy=|2x+al+4 9 27} O
T} Zol A (-1,b) S APt oju, T
84 a,b &1 F ab | F& F5HH?

ol

y=|2z+al+4 Y

]
]
@® 2 @ 4 3 6 :
]
@8 ® 10 -
y=|2x+al|+4 =l 2ztal+d Y
a
= [2(x+3)[+4
‘ x+2 i
Z AFy=|2x+a|+4 9 TPz E= ST
gy = 2x| o IHTE x F9] FF '
o= |
g VAN
9 va, = 0
y &0 Wgko 2 4 o3 ol 53t A
olct.
o, 2z 0| 7 Ao AZE (-1,4) oln
: . ’
EAONA (-1,b) O] BE
L
“a=2,b=4 .. ab=28




T4y =lxt 11—l x-3] o AN M, AEE m ol T o,
M - m o) & Ffeet,

cCh -
="

>
> met: g

od -

B )
y=lx+1|-|x=3]| °lA
)x<-1 &
y=—(x+1)+x-3=-4
ii)-1<x<3 <
y=x+14+x-3=2x-2
i) x>3 & of
y=x+1-(x-3)=4

ol el A Foi 9] T 2Tt o y
= 13 goug AF==r
M=4,m=—4 :
I
M—m=4-(-4) 0 ! .
-1 1 3 v

= 8 |




4.

B

5 x-2]+2yl=2 9 AH=L .

®© -2 @—1 ® 0 @1

|l x=2]42]yl=2 ] ZRZ} A4 y = mx +m + 1°] THES
She m ol 29gh 2|5gke] oh& +ohd?

[x|+2|y|=2 9 Iz &
x%o WoR 292 Baol5e A\

olck

o, | x| +2|y|=2 9 AT
x+2y =2 9 TN
x>0,y>09 FEL

ZYzt x &, y &, YA thoto] iAol &gt
Zolal, o] x FO Hgo R 2 4tF
HaPolEolH | x—2 | +2|y|=2 9 AP
o 1 Zr

Ay =mx+m+ 12 m2] gholl TA QO]
(-1, 1)& AYEE T agos} shid
(i)m=<0

(i) y=mx+m+1 0] 9H& A o
O=m+1N-m=-1°]2&2 m>-1

(1), (ii)ollX me] gre] Ml -1<m<0
w2tA m o] g} 24319 oF2 -1 o]tk




S A 9191 Al A A(-2), B(1), C(2)7H e, #4480 el @A P2
ot PA+PB+PC £ 47} A4 @ of, 4 P o] 22 751A?

© P(-2) @ P(-1) ® P(0)
@rq) ® PE)

B

AP o HEE P(x) 2 stH
PA+PB+PC=|x+2|+|x-1|+|x-2]
y=lx+2|+|x-1|+|x-2]9
Al as) o R

ohe 08 gong x = 1 oA F
$3E 7

et FokE d P 9 #EE P(Q1)
ojr}.

<

|

) S
(@)

Y I
[

8




6. |y-1l=x+a o 2BIe}yFOo= Eelsel A7) Holh4 A
o, % a o) Zhe?

@ 1 OF ® 3 @ 4 ® 5

ly-1|=x+a 9 y
dg=x=|yl=xE
x & S HFL R g,

y & oFo] vgko 2 1 gk o] 5 A]7]

O O -
Jgmolm g e 1w} Pt
o A mo _ Ay -a \O T
1o, y HLE |y-1|=a oAy =14a y
1

S S==-2aa=4 .. a=2a>0)

[\)




@2l +yl= 49 THE SeR wge) Yol & Fajoiat
g

>
> =g 16

B ~

2lx|+|yl=49 2T =2x+y=4,
Zy=—2x+4 9 I zZA

x>0, y>0% FET H7]11,

o] TYWEE xF, y%, Aol thste] 2t
7t A7 Fo| B2 ohe T} 2k ﬂf 27

_ _ 1
oA o 9] Hols sxax; = L4
16




224 9o Wl 4 A (-2), B

(0
P o] tisle] PA + PB + PC 9] %3S F5tolzt.

>
D Heb: 3

od -

), C(1) o] 9k o] 424 919] 4

B

AP 9 AEEP(x) P2 oA

PA=|x+2|, PB=x, PC=|x-1|,
PA+PB+PC=|x+2/+ x| +x-1 |BR&
y=lx+2+d+x-1 25D

x=-2,0, 12 AAZ 5t 77+ ¥ o3 Zo] vebd
4= Qlrh.

-3x-1 (x<-2¢ o)

-x+3 (-2<x<0% ™)
y:

x+3 (OS

w2hAl, y =[x + 2+ [xl + [x — 1] ©] Zex7} ok 27 2o
B2 PakE 43 3 oltt.




